Function

Basic Derivative Rules

1 f (x)=ax" f'(x)=
2 [ 1= f(x)=
P (=3 f(x)=
“ 2t f(x)=
5 f(x)% =1 Fed=
& [ F()=T(xpa(x) Fi(x)=
g I
5 [ f(0=¢ f(x)=
o [ m(x)=5 f(x)=
0 TF(x)=f(a(x) F(x)=
1 F(0)=1(g(h(x) Fi(x)=
2 FM=fo(h(i() | F0=
13 |1 (x)=sin(x) f(x)=
141 (x)=cos(x) f(x)=
15| (x)=tan(x) f(x)=
16| f(x)=sec(x) f(x)=
7 (0=cot(x) f(x)=
181 (0)=cse(x) f(x)=
19 1 1(x)=Mn(x) f(x)=
20| 1 (x) =aresin(x) f(x)=
21| (x) =arcten (x) f(x)=




ANSwWERS [ Funciion S5 Derivate s
1 f(x)=ax" f'(x)=anx""
2| = F(0= W2 - —
T = () =(1/3)x " = 4
RO f(x)=-1x7 ==
T t=spne ()= =%
& [F=1(xro( F ()= (x)g(x)+ f ()9°(x)
’ F(X)zggz; Fr(x) = (X)-g([z)(—x)f]gX)g (x)
8 f(x)=¢ f'(x)=e
9 m(x)=b f'(x)=In(b)b
10| F(x)="f(g(x) F'(x)= (9 (x))-9'(x)
T E(x)=1(g(n(x) F(0)= 1 (9(n())g"(n(x)h'(x)
12 TE)=t{o(h(i(0) | Fe0=1(a(h(i(x))a"(n(i ()63 (x))oi"(x)
13 | f(x)=sin(x) f(x)=cos(x)
14 |1 (x)=cos(x) f(x)=-sin(x)
15 |1 (x)=tan(x) f/(x) =sec?(x)
16 | 1 (x)=sec(x) £ (x)=sec(x)tan(x)
7 (x)=cot(x) £(x)=—os6*(x)
18| 1 (x)=cse(x) f/(x) =—cso(x)cot(x)
19 1(x)=h(x) )L
20| F (x)=arcsin(x) () X11X2
21| f (x)=arotan (x) (-




